KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THRET(AF)a—K ITHET(KF)8  #HEH O 1M 2m 3 4® 5S% 6 7m 8 9

10 HAT 151 1 2 0 2 3 3 1 2 6 0
20 fE&LET 158 0 3 0 5 3 4 2 6 2 3
30 @M 226 1 3 2 2 2 2 5 2 2 7
40 SRET 99 0 0 0 0 0 1 1 0 1 1
50 KET—T B 301 0 2 4 3 2 2 1 2 2 0
60 KET=TH 225 1 2 3 1 2 3 4 5 1 4
70 RET=TH 308 3 0 1 4 5 3 2 1 4 5
80 AT IEHET 83 1 1 3 2 3 0 3 0 2 1
90 FEHATIRAT 190 3 2 0 3 2 3 3 2 1 3
100 b ALET 113 0 0 0 1 2 1 1 3 1 3
110 T HT 1139 18 15 32 28 21 27 23 21 27 32
120 ¥X;TAHT 211 3 3 9 4 5 3 5 3 4 4
130 t&FHT 352 1 3 4 4 4 6 6 3 5 7
140 EH[E M7 11 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 306 6 5 2 8 7 9 5 3 5 5
9999 KB XEt 3873 38 41 60 67 61 67 62 59 63 75
510 AETHT B 404 2 4 2 3 3 3 3 2 7 4
520 HpEEMT 117 7 1 3 2 1 4 0 7 1 2
530 J\It&HET 229 2 1 1 2 0 2 2 0 2 2
540 15 HT 393 0 3 2 4 2 3 6 3 3 4
550 FithET 340 4 2 4 0 3 6 2 4 7 5
560 = ZLHT 83 1 0 0 1 0 0 0 0 0 0
570 EEHT 65 1 1 2 1 2 3 1 3 1 0
580 #rBHET 161 2 0 2 0 2 0 2 2 2 0
590 FriEMT 71 1 0 0 0 0 0 2 0 1 0
600 ZEARET 522 4 2 5 5 10 5 10 11 11 7
610 JEHT 173 0 1 3 1 3 1 2 3 2 6
620 FEBET—T B 2 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 9 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 2569 24 15 24 19 26 27 30 35 37 30
1010 B A HT 165 1 0 2 2 0 4 0 2 3 4
1020 Lt FHT 275 4 4 4 12 5 3 9 8 7 3
1030 5 FHT 271 3 8 5 6 9 7 5 10 7 9
1040 75 K HT 471 8 15 10 6 14 10 13 15 10 11
1050 = HHET 617 15 14 11 10 7 15 12 9 14 15
1060 FH _EHT 537 10 13 21 16 12 20 20 9 16 8
1070 4T/ HET 664 13 9 14 11 15 6 14 13 11 8
1080 & HHET 376 9 9 8 5 7 6 5 7 11 8
1090 BHiEHT 515 5 7 10 7 12 8 15 7 13 15
1100 £ BEHT 541 8 11 9 17 14 17 11 17 15 16
1110 f21EHT 152 1 3 3 0 2 4 5 5 5 2
1120 #Z1E JCHT 79 0 1 0 0 0 0 0 1 2 0
1130 +4<HT 24 0 0 0 0 0 3 2 0 0 0
1140 Fk[RHET 16 0 1 0 1 0 0 1 0 0 0
1150 #/RET—T B 176 0 1 2 1 2 2 3 2 3 4
1160 #EET=TH 225 3 0 3 0 5 2 1 5 3 5
1170 ;& /KHET 167 1 1 0 1 1 1 2 1 1 2
1180 EE&FLHET 214 2 1 1 2 3 5 0 4 3 6
1190 #&FARHT 185 2 4 5 3 5 2 3 4 3 3
1200 XFHET—TH 129 0 0 2 1 1 2 1 1 2 1
1210 XFHEIZTH 169 0 1 3 1 2 2 3 2 3 2
1220 FrHT 146 3 0 3 1 1 0 0 0 2 2
1230 #XHET 164 0 0 2 2 1 4 0 3 3 4
1240 B EHT 139 0 1 0 0 2 1 2 3 3 3



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THRET(AF)a—K ITHET(KF)8 #HEH O 1M 2m 3 4% 5S% 6 7m 8 9

1250 TEEMT 153 1 2 3 2 2 2 0 2 0 2
1260 JEFh & 42 0 1 1 1 1 1 1 0 1 0
1270 EEHT 163 1 4 2 1 3 0 0 0 1 0
1280 FRAHET 165 0 0 1 0 1 0 2 1 2 3
1290 $RHET 200 0 1 2 0 0 1 4 2 5 3
1300 4 ZEHT 150 0 2 1 3 1 2 3 1 1 2
1310 R/ HT 75 1 1 2 1 0 1 0 0 0 0
9999 K HEMRXET 7365 91 115 130 113 128 131 137 134 150 141
1510 A& _E BT 626 12 8 12 9 8 17 10 17 10 14
1520 HEHTHET 617 5 6 6 8 9 7 12 8 9 8
1530 }EHTHT 308 5 3 5 3 1 7 7 2 7 6
1540 K{Z3FHT 515 4 7 8 8 9 6 9 6 8 5
9999 FEMNA: X 5 2066 26 24 31 28 27 37 38 33 34 33
2010 EE AT 191 1 1 5 1 4 2 5 2 3 5
2020 % E gl 288 6 2 1 1 8 10 9 11 7 13
2030 E0HT 20 1 0 0 0 0 0 0 0 1 0
2040 ;ET—T H 190 1 3 1 1 6 0 1 1 6 5
2050 BT =T B 187 1 2 1 4 3 3 2 4 0 3
2060 ¥g AT 36 0 0 0 0 0 0 0 0 0 0
2070 FxEBT—TH 226 2 2 6 3 5 9 4 1 5 6
2080 FRET—TH 188 1 3 5 1 4 2 2 0 4 2
2090 THiRAT 1578 15 20 16 17 17 23 24 30 26 20
2100 Hr it ET 220 5 4 6 2 7 5 5 4 7 7
2110 }EWIETET—T B 206 3 5 3 2 6 7 5 4 8 4
2120 HEMIFTETZT B 241 4 8 4 6 9 3 7 8 5 9
9999 £ ERXET 3571 40 50 48 38 69 64 64 75 712 14
2510 FAMEET 1899 39 37 46 28 34 42 43 43 47 50
2520 sk EeHT 1161 15 21 20 21 31 33 34 31 31 37
2530 = /INRHET 354 7 4 14 8 5 12 6 6 5 4
2540 FHi5HT 439 2 6 2 5 4 6 4 8 6 7
2550 ;HHET 208 1 7 4 2 2 2 3 3 6 9
2560 = SHT 879 11 7 12 12 16 14 14 13 20 7
2570 K EHT 83 0 0 1 0 0 1 0 1 1 2
9999 ME R X ET 5023 75 82 99 76 92 110 104 105 116 116
3010 KATHT 949 15 12 15 17 15 19 14 13 11 14
3020 gt ;IHT 881 11 19 13 12 14 12 22 20 17 12
3030 L EFHT 688 4 17 12 9 17 18 23 17 14 17
3040 &S _LHET 132 1 0 0 1 1 0 2 2 2 2
3050 B AR ET 2095 61 67 48 51 63 58 56 54 51 42
3060 B THT 484 4 7 4 5 8 1 9 3 4 8
3070 THESEHT 450 2 5 3 8 7 7 7 9 7 9
3080 H AT 365 4 5 10 6 10 10 20 11 20 13
3090 HHRERHAT 387 10 12 9 9 4 11 12 17 12 9
3100 EH R FEHET 511 3 8 9 9 10 11 7 10 11 2
3110 EedLAET 414 0 6 6 7 5 6 10 5 3 9
9999 /\FHERXET 7356 115 158 129 134 154 153 182 161 152 137
3510 £[R AT 170 0 1 1 3 0 3 3 0 1 3
3520 &R T 337 4 4 3 3 5 7 2 2 8 5
3530 27 THT 899 8 21 14 18 17 24 26 22 22 29
3540 =B KHT 317 4 2 2 6 3 3 1 2 3 3
3550 AEFHT 737 6 7 9 12 9 15 4 14 11 11
3560 = T B HET 286 4 6 1 5 0 2 2 2 1 5
3570 & T AafT 791 10 17 12 14 13 10 13 12 13 10
3580 FLIFTHT 555 7 6 7 3 11 4 10 9 5 7
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TBET(KF)a—K TEET(KF)E HMEH o

3590 EHT

9999 EHKXET
4010 41| N ET
4020 &S HT

4030 5HT

4040 S HEAHT
4050 7K EHT

4060 E=Z HHET
4070 JtJRHET

4080 =;T;HAMT
4090 S5 ERHT

4100 FFEFNHET
4110 JtFFOET
9999 &M XET
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET
5010 BRF0H £ HT
5020 BAF0BAELET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET

5520 = HhHET

5530 F4'= HT

5540 wy ZEmT

5550 EEHET

9999 =R X 5t
6010 [EHT/NEE
6020 [EHT 4

6030 FEBTA I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 FEERXET
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
6590 HZ= ATHET
6600 B &= AT

16
4108
299
75
192
176
385
345
148
175
263
112
117
2287
754
151
173
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95
72
121
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292
2392
173
176
180
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

AT (AF)a—K ITHHET(KF)%  HEH O 1M 2m 3 4% 5% 6 7m 8 9

6610 HEA _LFEHT 43 1 0 0 1 0 0 0 0 0 0
6620 HZE AT 46 0 0 0 0 0 0 1 1 2 1
6630 HZE AT FGHET 93 0 0 1 0 1 0 2 0 1 0
6640 B &= A EitslT 34 0 0 0 0 0 0 1 0 0 0
6650 B ZASHET 1 0 0 0 0 0 0 0 0 0 0
6660 HZ A RLHET 50 0 0 0 0 0 0 0 0 0 0
9999 HEARKKXET 1284 6 8 4 9 10 6 10 9 13 7
7010 — &M O HET 143 0 0 3 1 1 0 2 0 1 2
7020 — RAHT 249 0 0 1 3 0 2 3 1 1 2
7030 = R IRHNET 96 2 0 0 1 1 0 0 1 1 0
7040 — R T KEFHT 182 0 1 0 0 1 1 0 0 1 0
7050 — B E7 H I HET 93 0 0 0 0 0 0 0 0 0 1
9999 — R&XEt 763 2 1 4 5 3 3 5 2 4 5
8011 IRAETFEHERLY 58 0 0 0 0 1 0 0 0 0 0
8012 IR AHTFHERA 121 0 1 0 2 1 0 0 1 0 1
8013 YR AHTFEER (& 62 0 0 1 1 0 0 1 0 1 1
8021 IRAHTIZEKLY 76 0 0 0 1 0 0 1 0 0 1
8022 IR AHTIEKA 4 0 0 0 0 0 0 0 0 0 0
8023 IR AHTIEKIL 7 0 0 0 0 0 0 0 0 0 0
8031 YAHETH ALY 140 1 0 0 0 2 1 0 1 1 1
8032 IRAHTHA A 6 0 0 0 0 0 0 0 0 0 0
8033 FAHETH AL 14 0 0 0 0 0 0 0 0 0 0
8041 IR AHTELIRL 62 0 0 0 0 0 0 0 0 0 1
8042 IR AHTELIRA 25 0 0 0 0 0 0 0 0 0 0
8043 IR AHTELIR L 17 0 0 0 0 0 0 0 0 0 0
8044 IR AHTELIRIC 25 0 0 0 0 0 0 0 0 0 0
8045 IR AHTELIR (X 47 0 0 0 0 0 0 0 0 0 0
8050 i AHTHRA 119 0 0 0 0 0 0 0 0 0 0
8060 IR AHTFT#E 100 0 0 1 0 1 1 1 0 1 1
8070 JRABTER 104 0 0 0 0 0 1 0 0 0 1
8080 Ik AHT &k 39 0 0 0 0 0 0 0 1 0 1
8090 IR AHTHEE 31 0 0 0 0 0 0 0 0 1 0
8100 R ABTH /1% 16 0 0 0 0 0 0 0 0 0 0
8110 IRAHTJII 5 37 0 0 0 0 0 0 0 0 0 0
8120 R AHETEEE 63 0 0 0 0 0 0 0 0 0 0
8130 IR AHTH L 65 0 0 0 0 0 1 0 1 1 0
8140 IRABTEERT 101 0 0 0 0 0 0 0 0 0 0
8150 IR ABTEFRK L 78 0 0 0 0 0 0 1 0 0 1
9999 AKX 5T 1417 1 1 2 4 5 4 4 4 5 9
9010 FTHTAKEH 535 7 15 10 9 10 6 10 12 7 8
9020 FTHTHEA 318 7 10 7 9 6 5 9 4 7 4
9030 +THTHEH 975 24 27 22 A 32 3 37 35 32 39
9040 FTHTHEIH 1118 12 17 15 13 18 28 31 21 34 21
9999 FT X5t 2046 50 69 54 72 66 74 87 72 80 72
9110 SRETTTH % 473 7 7 7 8 11 9 6 7 14 10
9120 SFETH L 237 2 0 3 1 2 3 3 2 3 5
9130 FFETH B 118 0 1 3 2 2 1 2 3 4 3
9140 SERT T4 346 3 5 3 6 6 5 6 6 4 8
9150 $RHT L§% 444 4 4 10 6 13 5 7 12 10 8
9160 SRETERHT 642 5 11 6 22 6 13 14 13 16 27
9170 $RATNEA 838 9 10 17 14 17 17 17 25 18 22
9180 #RHTER 530 4 9 5 6 9 7 9 8 8 12
9190 $ERTZ O 181 2 2 1 0 2 2 4 4 3 6
9200 5 ET Fr 5 165 3 3 1 3 1 1 6 4 2 3



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THRET(AF)a—K ITHHET(KF)8  #HEH O 1M 2m 3m 4% 5% 6 7m 8m 9

9210 $EHET = H 307 3 1 3 5 7 6 4 5 1 9
9220 $EHT 7 H 482 8 11 6 12 11 15 9 14 12 10
9230 SXET B M 572 4 8 9 12 12 14 12 8 15 11
9240 $EHETIEE 219 1 2 4 3 5 5 5 4 3 6
9250 % HT At #r b 455 4 6 6 8 6 8 11 7 8 9
9999 S XET 6009 59 80 84 108 110 111 115 122 121 149
9310 E[FHET:AR 178 1 1 2 1 0 2 1 1 2 0
9320 H[SHETIL 187 1 3 2 1 4 0 1 1 3 2
9330 H[SHET/INE 126 2 2 1 2 0 1 1 2 0 1
9340 R [ZHTR 329 3 1 5 4 3 6 5 5 5 6
9999 R[GHXET 820 7 7 10 8 7 9 8 9 10 9
9410 RETT & 293 0 0 3 2 2 2 3 3 3 3
9420 RHETHHE 203 0 0 0 0 1 0 0 0 2 0
9430 RETFER 134 0 0 0 0 1 1 0 0 1 0
9440 RETAEF 12 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 20 0 0 0 0 0 0 0 0 1 0
9460 RET{—_HE 27 0 0 0 0 0 0 0 0 0 0
9470 RETEXR 7 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 45 1 1 0 0 0 0 1 0 0 2
9999 RIXXEt 741 1 1 3 2 4 3 4 3 7 5
99999 &t 57286 656 803 811 831 911 966 1016 999 1037 1057



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

10 HAT 2 3 2 1 1 1 1 2 3 3
20 fE&LET 7 6 2 3 3 3 3 6 1 3
30 @M 2 7 4 2 2 2 4 4 1 3
40 SRET 1 1 0 1 2 2 2 1 0 1
50 KET—T B 4 1 2 2 3 0 3 2 1 5
60 AET—TH 4 1 3 3 4 1 4 0 4 2
70 RET=TH 2 4 5 4 6 4 3 5 8 5
80 AT IEHET 1 1 0 1 0 0 0 0 1 1
90 FEHATIRAT 5 2 3 2 4 5 1 0 0 2
100 b ALET 1 2 3 4 3 3 1 3 2 2
110 T HT 35 20 37 29 23 33 27 21 26 25
120 ;T AHT 3 6 3 2 6 7 4 6 7 6
130 #&FHT 4 7 8 2 4 10 10 7 5 10
140 EH[E M7 0 1 0 1 0 0 2 0 3 1
150 1 FFrHET 5 6 2 9 2 5 5 8 9 5
9999 KB XEt 76 68 74 66 63 76 70 65 71 74
510 AETHT B 1 3 2 8 8 8 7 7 4 7
520 HpEEMT 1 4 1 2 8 3 2 4 3 6
530 J\It&HET 4 4 3 5 4 4 4 3 3 3
540 15 HT 1 3 7 4 11 3 5 8 7 9
550 FithET 8 4 4 6 6 10 10 7 15 9
560 = ZLHT 0 0 1 0 1 0 2 0 0 0
570 EEHT 0 1 1 1 2 2 1 2 1 1
580 #rBHET 1 0 2 0 2 1 3 1 1 1
590 FriEMT 0 0 0 0 0 0 0 0 0 0
600 ZEARET 15 21 12 10 19 9 14 11 3 10
610 JEHT 0 4 2 1 1 4 2 2 2 2
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 31 44 35 37 62 44 50 45 39 48
1010 R HT 2 4 0 5 3 2 6 4 2 1
1020 Lt FHT 4 6 6 6 9 7 4 8 3 5
1030 = T HT 9 10 7 12 4 10 6 14 6 7
1040 75 K HT 4 8 11 11 11 12 7 14 8 10
1050 = HHET 15 17 14 12 13 18 10 14 16 10
1060 FH _EHT 11 12 10 13 17 11 15 14 7 9
1070 A7 R HET 18 15 7 15 13 17 11 10 14 12
1080 & HHET 6 6 7 7 5 9 8 5 9 8
1090 Hi&Hr 12 8 7 11 18 4 7 13 7 9
1100 £ BEHT 9 17 18 18 15 11 15 8 11 13
1110 f21EHT 3 6 1 5 1 3 1 5 1 4
1120 #Z1E JCHT 1 0 2 1 0 2 1 0 0 3
1130 +4HT 1 0 0 0 0 1 0 1 0 0
1140 Fk[RHET 1 1 0 1 0 0 0 0 0 0
1150 #/RET—T B 4 1 2 3 1 1 2 4 2 5
1160 #EET=TH 4 1 5 0 3 1 4 2 4 2
1170 ;B/KHET 4 3 1 5 2 2 4 1 2 1
1180 EE&FLHET 4 4 2 4 1 3 3 1 4 1
1190 #&FARHT 1 2 3 2 2 2 3 5 5 3
1200 XFHET—TH 1 1 2 1 1 2 0 4 0 3
1210 XFHEIZTH 4 1 3 6 3 5 4 0 2 4
1220 FrHT 3 3 5 1 2 3 3 5 1 6
1230 #xKHET 0 3 0 2 2 0 2 2 3 4
1240 B EHT 2 1 0 5 1 2 2 2 0 4
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ARET (K a—F THRET(KF)& 108 11E 12 13@ 14 15 16 17 18 19
1250 fEEHET
1260 JEFh &
1270 EEHT
1280 FRAHET
1290 $RHET
1300 % FEHT
1310 K /LHET
9999 KA 5T
1510 }E#D_E BT
1520 }EHI T BT
1530 }EHTHT
1540 K& HT
9999 FEMNA: X 5
2010 Z E AT
2020 % E gl
2030 JENHT
2040 ;ET—T H
2050 BT =T B
2060 #g fEHET
2070 ¥ xET—TH
2080 FRET—TH
2090 THIELHET
2100 4L HET
2110 KEMWIETET—T B
2120 HEMIFTETZT B
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9999 £ ERXET 72 71 62 80 62 75 79 68 71 63
2510 FAMEET 48 64 52 64 78 61 58 68 53 52
2520 sk EeHT 37 27 35 32 29 31 29 31 21 35
2530 = /INRHET 5 7 3 7 11 7 6 10 7 6
2540 FHi5HT 4 3 4 7 4 1 7 4 5 8
2550 ;HHT 8 6 1 2 1 2 3 2 2 5
2560 = ST 19 24 17 18 26 12 16 17 18 19
2570 K EHT 3 0 0 3 1 5 2 1 1 0
9999 ME R X ET 124 131 112 133 150 119 121 133 107 125
3010 K#THT 12 20 22 22 12 15 28 15 17 19
3020 gt ;IHT 13 19 14 20 15 17 23 19 22 16
3030 L EFHT 15 14 16 15 16 18 15 16 15 14
3040 &S _LHET 2 1 1 0 2 2 2 1 2 1
3050 THEA AT 53 46 51 43 52 52 40 49 49 35
3060 B THT 8 3 6 6 11 2 10 9 5 3
3070 HEAEAT 5 10 7 3 8 7 8 9 5 12
3080 H AT 16 17 13 9 6 7 9 8 12 5
3090 H I EHET 13 14 10 12 10 8 9 9 7 10
3100 A FRHET 8 10 6 4 11 9 8 7 3 5
3110 EHhALHT 3 4 10 4 8 9 7 6 6 5
9999 /\FHERXET 148 158 156 138 151 146 159 148 143 125
3510 £[R AT 1 2 0 2 0 1 0 3 4 1
3520 £ R chfT 4 5 4 6 4 5 4 9 6 4
3530 £ R THT 16 17 21 6 19 21 10 14 15 12
3540 =B KHT 8 3 9 4 5 10 1 7 9 5
3550 AEFHT 14 11 13 8 15 12 9 15 10 16
3560 = T B HET 5 3 3 4 2 7 4 6 5 6
3570 = T AT 7 10 8 12 11 10 7 7 15 7
3580 FLIFTHT 11 6 7 6 9 7 8 7 6 16
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

3590 JEMT 0 0 0 0 0 0 0 0 0 0
9999 S HKXE 66 57 65 48 65 73 43 68 70 67
4010 41| RET 12 2 4 4 7 2 3 8 5 5
4020 {E&HT 1 0 1 1 1 1 1 1 1 3
4030 5HT 3 2 3 1 3 7 2 6 3 3
4040 = HEAHT 1 3 5 4 3 3 3 5 3 6
4050 7K EHT 5 8 7 9 7 6 3 8 13 11
4060 E5Z HAT 6 5 8 10 7 6 10 10 8 7
4070 JtJRHET 3 6 2 3 4 0 2 0 1 1
4080 =;T;HAMT 3 8 2 7 1 4 1 5 3 3
4090 S5 ERHT 6 7 5 4 5 2 8 5 9 5
4100 g FEFOET 1 0 1 2 1 4 0 3 2 1
4110 JtEFn@T 3 3 0 5 2 3 3 2 2 2
9999 2RI X st 44 44 38 50 41 38 36 53 50 47
4510 EREE—FHET 13 8 10 12 10 11 12 11 11 13
4520 EREE — AT 0 1 2 5 7 4 3 6 2 6
4530 EREE=ZEHT 5 2 5 1 2 2 5 4 2 2
4540 B} EErUZEET 2 3 1 2 1 1 2 0 2 1
4550 EREE FFHT 0 0 1 4 2 2 3 2 4 2
4560 EREENEEHET 2 2 1 2 3 1 0 2 1 0
4570 EREE-HZFHET 0 2 1 1 4 0 3 3 5 4
4580 ERZE/)\ZHEHT 2 0 3 0 5 2 0 0 3 2
4590 EREE N FEHT 4 4 3 3 2 4 0 0 0 2
4600 EREE-+ZEHET 1 0 3 1 0 4 2 1 0 2
4610 EREE+—ZHT 1 3 3 1 3 3 3 3 2 3
4620 B+ —FET 2 4 2 4 1 3 1 1 1 8
9999 ERERXET 32 29 35 36 40 37 34 33 33 45
5010 BRF0H £ HT 6 2 5 3 2 2 4 1 3 4
5020 FAF0BAEET 1 0 2 1 2 3 1 3 3 5
5030 FRFNREI{—HT 2 4 2 2 1 5 2 7 0 5
9999 RRFIRXET 9 6 9 6 5 10 7 11 6 14
5510 b RHET 1 2 6 1 2 2 0 0 1 4
5520 = AT 18 19 9 14 16 7 14 12 12 7
5530 75 = /T 7 5 8 7 6 2 5 5 7 4
5540 THEHRT 3 7 4 5 5 3 2 3 3 1
5550 EEHET 0 0 0 0 0 0 0 0 0 1
9999 =R X 5t 29 33 27 27 29 14 21 20 23 17
6010 [EIHAT/MER 0 2 3 0 2 1 2 3 3 1
6020 [EHT 4 1 1 2 2 0 1 0 4 0 2
6030 [EET A I 0 2 0 2 2 3 2 1 2 1
6040 EiEIFHET 4 4 4 4 3 4 5 3 3 3
6050 JI|ABTE 0 1 0 2 3 1 2 3 0 3
6060 JI|EHETF 1 4 2 4 2 3 5 2 3 1
9999 FEEMRXET 6 14 11 14 12 13 16 16 11 11
6510 B &= A#GHET 0 1 0 0 0 0 0 0 0 1
6520 HZEAKIEHET 2 4 3 3 4 0 7 6 4 3
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1300 & EEHT 7 4 0 2 4 0 4 3 4 2
1310 RJLHET 2 1 1 0 0 1 1 0 1 1
9999 K HEMRXET 145 134 164 155 160 147 159 184 195 185
1510 A& _E BT 15 12 12 8 16 20 17 18 15 8
1520 HEHTHET 8 5 9 9 1 14 7 8 13 15
1530 HEHITHET 12 6 3 5 5 7 6 1 5 4
1540 K4EFHT 12 12 5 10 9 15 5 5 12 8
9999 FEMNA: X 5 47 35 29 32 41 56 35 32 45 35
2010 EE AT 2 1 4 6 2 1 5 4 4 7
2020 % EFGHT 3 4 7 8 5 7 4 10 9 7
2030 E0HT 0 1 1 1 1 0 0 0 0 0
2040 ;ET—T H 3 5 3 3 2 6 4 4 1 6
2050 BT =T B 2 4 1 1 1 3 4 5 7 3
2060 #5 AT 1 0 1 0 0 0 2 0 1 0
2070 FxEBT—TH 1 5 4 8 6 3 7 8 4 4
2080 FRET—TH 4 1 4 2 4 8 1 3 1 5
2090 THiRAT 25 32 21 29 27 20 35 28 30 32
2100 Hr it ET 4 4 3 9 7 6 9 7 2 7
2110 }EWIETET—T B 4 5 6 3 3 5 4 5 6 5
2120 HEMIFTETZT B 6 0 6 6 6 5 6 2 5 10
9999 £ ERXET 55 62 61 76 64 64 81 76 70 86
2510 FAMEET 32 37 39 48 49 60 50 57 40 34
2520 sk EeHT 14 19 25 37 20 33 26 30 43 40
2530 = /INRHET 7 8 8 12 12 11 10 8 8 3
2540 FHi5HT 4 7 5 9 5 10 7 5 4 4
2550 ;HHET 3 5 5 5 9 6 4 4 4 6
2560 = SHT 8 20 10 9 20 21 16 13 21 21
2570 K EHT 1 1 1 0 0 0 0 1 0 2
9999 ME R X ET 69 97 93 120 115 141 113 118 120 110
3010 X#FHET 15 14 14 16 18 10 28 25 18 20
3020 ;BT HT 26 23 12 14 20 22 24 34 21 27
3030 L EFHT 16 10 18 11 18 16 17 25 9 20
3040 &S _LHET 0 2 2 2 2 2 1 1 5 4
3050 B AT 58 47 45 63 54 58 68 80 74 64

3060 H R THT

~
N
oo
©
~
~
oo
o
~
~

3070 HEAEAT 10 3 11 8 13 7 7 14 7 8
3080 H AT 10 7 10 11 8 19 11 9 11 17
3090 HHRERHAT 11 7 6 9 14 18 9 13 14 14
3100 A FRHET 15 12 13 13 13 10 9 22 12 15
3110 EHAILHET 8 9 15 9 7 7 4 11 5 8
9999 /\FHERXET 176 136 154 165 174 176 186 242 183 204
3510 £[R AT 2 3 1 2 1 5 0 2 2 4
3520 £ R chfT 5 5 5 6 3 6 9 5 5 5
3530 E[RTHT 21 26 21 22 23 24 15 20 26 23
3540 =B KHT 6 2 4 5 2 4 3 4 2 4
3550 AEFHT 17 9 10 11 15 13 14 11 14 16
3560 = T B HET 0 3 5 2 5 7 6 3 7 5
3570 & T AafT 13 14 20 13 19 18 17 15 19 7

3580 ¢ LLITHT 14 15 10 11 11 12 16 8 6 1
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4060 E=Z HHET
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4100 FFEFNHET
4110 JtFFOET
9999 &M XET 4
4510 EREE—ZEHT 1
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 B+ —FET 2
9999 ERERXET 9
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5020 FAF0BAEET
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5520 = HhHET 1
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9999 =R X 5t 2
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6530 B E AFTHHET
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TRET (K a—F THRET(KF)& 30 31m 32 33m 34 357 36 37 38 39
6610 HEA _LFEHT
6620 HZE AT
6630 HZE AT FGHET
6640 B &= A EitslT
6650 B ZASHET
6660 HZ A RLHET

9999 HEAKKET 1 1 1 2 2 1 1
7010 Z— R;M O/

7020 — R AHT
7030 = R FR#AHET
7040 — BT KEFHET
7050 — R ¥y H I ET
9999 — R&XEt 1
8011 IRAETFEHERLY
8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 IR AHTFT#E
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT
8150 IR AHBTEFRK L

—_

N OOO - 00O ONMNO - - 0000000 WOO 00O == N—-0O0MNOCOO—0O0O0o
O - WO OO0 —-~000 00 = —=00MNMNOOONMNMO—-LTOOWULITWWwOON-=DMNDO

O 2 0000000 WODO0DO0OO0O 00000 WO O - WO —-=-UOMNWO—-O ===

N -0 -~ 0000~ 00~ 0000 ~00 000~ W~ JW—-O—-NWOWOOOOOO
o -0 o0 -0 —-~o0o0oMhMNO O T 00000 ~~0O0O 0O~ 0LWOUPMdNODWLWOTO 200000 = =0
0O -~ 00—~ 00 —~~0 0~ 00 00D O0COONOOMNO—ODLOO—~-DMNMNMNNMNMNW—OO—-0O0O0O0
oo -~ 000 o0 omnN -0 00T 00—~ 0 0WO O =000 —~0MNMNOUOPMPWOOOOOO

— OO MNOO 0000~ 000 —~000O0CONMNWMNMOOUO—=- == DNO—~~00O—~0O0O0o

DO O OO0~ 0 000 OMNOO0OO0ODO0ODODODO0OO0DOO 00— == WN—=" WO —-=-NMNMNOO—-0 WO
— —
N OO -~ 00000 - —-0WOO0ODODO0ODODO0ODOODOOLODODOLOO—~WoOVWwWOoOOoOWwMAMNOWOOOWNO

9999 AR X ET 10 1 1 1 14 1 12 13
9010 +THTAKEH 13 9 1 12 17 16
9020 FTHTEE R 4 6 11 4 8 7 9 8 8
9030 +THTH & H 21 27 29 31 37 39 43 32 37 40
9040 FTHTHEIH 27 30 21 28 39 28 26 24 30 34
9999 FT#XEt 65 70 70 69 98 87 88 73 92 98
9110 SRETTTH & 5 9 7 7 8 5 10 9 13 13
9120 SFETH L 4 6 9 1 3 7 3 2 8 1
9130 $EHTH & 3 0 0 0 2 2 3 0 2 3
9140 $RAT T4 6 6 4 5 6 5 7 9 8 9
9150 FRHET E&5 10 4 8 11 9 6 12 9 9 11
9160 SRETERHT 10 13 11 8 10 11 16 18 13 21
9170 $RATNEA 17 19 13 16 21 18 17 22 22 28
9180 #RHTEE 8 9 11 14 11 8 8 9 11 7
9190 $ERTZ O 1 3 0 2 3 0 4 6 6 5
9200 i ET Fr il 4 4 8 5 3 5 2 3 4 2
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—FK {TEET (K=FE)E 303 31/ 323 33m 34 35 36@ 37% 38 39

9210 $EHET = H 4 8 7 5 6 6 11 4 7 10
9220 SxETHH 9 7 16 9 9 8 10 8 12 13
9230 $EHTE M 14 10 10 14 13 15 20 15 13 16
9240 $EHETIEE 3 3 6 6 6 8 4 3 8 5
9250 % HT At #r b 10 11 18 22 11 15 11 10 18 17
9999 S XET 108 112 128 125 121 119 138 127 154 161
9310 E[FHET:AR 0 1 1 2 1 2 0 3 0 1
9320 H[SHETIL 1 4 1 1 1 3 0 4 2 2
9330 H[SHET/INE 2 0 1 2 1 6 3 1 3 0
9340 R [ZHTR 4 2 3 4 3 7 7 9 4 8
9999 H[G#HXET 7 7 6 9 6 18 10 17 9 11
9410 RETT & 3 3 3 3 5 5 6 6 5 6
9420 RHETHHE 1 0 3 1 0 2 2 1 3 2
9430 RETFER 1 0 1 0 2 1 1 1 0 0
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 1 1 0 0 0 0 0 0 0
9460 RET{—_HE 0 0 1 0 0 0 0 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 1 0 0 0 0 1 0 0 0 1
9999 RIXXEt 6 4 9 4 7 9 9 8 8 9
99999 &t 1078 1020 1063 1127 1152 1201 1253 1286 1279 1295



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

10 HAT 4 1 2 4 4 3 7 6 5 3
20 fE&LET 5 5 6 5 6 3 4 4 2 2
30 @M 3 4 4 3 6 5 3 4 5 3
40 SRET 0 1 1 2 1 2 1 4 7 2
50 KET—T B 6 0 2 3 2 2 1 7 3 7
60 KET=TH 6 4 14 4 5 8 4 9 6 8
70 RET=TH 7 3 5 2 9 5 6 9 4 7
80 AT IEHET 2 1 4 0 2 4 3 1 2 0
90 PN I ET 5 2 1 1 4 7 3 4 5 5
100 b ALET 1 5 3 1 4 5 4 6 4 4
110 T HT 30 27 35 22 34 41 44 36 49 36
120 ¥A;TAHT 3 8 6 6 12 4 6 7 10 11
130 #&FHT 8 7 6 7 11 12 14 10 13 16
140 EH[E M7 0 0 0 0 1 1 0 0 0 0
150 1 FFrHET 10 9 12 8 9 11 7 12 9 12
9999 KB XEt 90 77 101 68 110 113 107 119 124 116
510 ABTEUT B 6 11 7 9 15 11 9 10 14 8
520 HpEEMT 3 5 1 3 3 2 5 7 10 6
530 /\F&EHET 5 1 3 7 6 5 5 5 6 7
540 15 HT 11 11 6 8 15 11 11 8 13 18
550 FithET 6 11 4 5 6 12 9 14 10 15
560 = ZLHT 1 4 1 2 0 1 5 2 1 1
570 & EHT 1 3 0 2 1 2 2 2 1 2
580 #rBHET 2 2 5 1 2 3 3 6 5 3
590 #7;EHT 0 1 1 1 1 0 0 1 0 1
600 ZEARET 13 10 9 19 14 12 9 16 11 14
610 &M 5 4 3 4 7 4 7 2 3 6
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 FEBTZTH 0 2 0 0 0 0 1 2 0 0
9999 J\ KXt 53 65 40 61 70 63 66 75 74 81
1010 R HT 8 3 3 5 3 2 1 7 5 8
1020 Lt FHT 10 8 5 10 13 13 10 5 6 9
1030 5 FHT 5 6 17 8 14 14 10 12 9 14
1040 75 K HT 16 12 7 11 13 10 3 7 18 12
1050 = HHET 21 19 8 20 20 22 16 14 17 23
1060 FH _EHT 14 18 15 16 18 15 22 12 13 20
1070 4T/ HET 9 13 15 19 25 7 11 26 10 14
1080 & FHHT 10 12 4 8 6 8 15 7 15 6
1090 BHiEHT 9 13 14 7 12 19 10 16 14 10
1100 L BiEHT 16 19 14 15 14 11 27 17 16 11
1110 f21EHT 3 3 5 4 1 4 3 4 3 1
1120 #Z1E JCHT 1 1 1 1 2 3 0 1 2 0
1130 +4<HT 0 0 0 0 0 2 0 2 0 0
1140 Fk[RHET 1 0 1 0 0 0 0 1 0 0
1150 #/RET—T B 6 2 2 5 5 3 4 2 7 3
1160 #EET=TH 5 4 8 2 5 3 5 4 7 9
1170 ;B/KHET 5 4 2 7 8 2 5 4 2 6
1180 EE&FLHET 6 2 4 5 7 4 3 6 6 6
1190 ¥ F AHT 6 0 6 2 4 4 5 3 9 4
1200 XFHET—TH 3 4 1 1 6 3 0 4 3 4
1210 XFHEIZTH 4 3 4 4 3 5 9 3 4 3
1220 FrHT 1 2 5 1 5 5 3 4 3 6
1230 #XHET 2 4 4 4 3 3 4 1 4 0
1240 B EHT 1 4 1 5 1 3 3 5 3 6
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—FK {TEET (KEFE)R 405 413 42k 43 445 45m 46k 47 48  49%

1250 fEEHET 5 6 0 5 3 1 3 1 4 3
1260 B & 2 0 2 0 1 0 0 0 2 0
1270 EEHT 2 3 1 4 1 6 4 5 5 1
1280 FRAHET 2 4 2 4 3 6 4 4 2 7
1290 $RHT 7 3 5 4 5 3 6 9 7 5
1300 & EEHT 7 1 3 3 2 4 3 4 2 1
1310 RILGHET 1 1 1 1 1 2 1 1 0 3
9999 K HEMRXET 188 174 160 181 204 187 190 191 198 195
1510 A& _E BT 5 14 15 23 22 20 17 17 16 22
1520 HEHTHET 13 18 1 24 19 13 25 24 24 12
1530 HEHITHET 5 4 3 3 6 10 5 12 5 14
1540 K4EFHT 10 9 9 18 7 10 14 11 18 22
9999 FEMNA: X 5 33 45 38 68 54 53 61 64 63 70
2010 EE AT 7 2 5 6 10 5 6 8 3 4
2020 %= EFGHET 16 4 3 6 10 11 7 12 6 12
2030 AT 0 0 0 0 0 0 0 1 1 1
2040 ;ET—T H 2 3 2 3 3 5 4 9 5 6
2050 BT =T B 5 6 7 3 4 3 4 4 5 6
2060 #5 AT 1 1 1 2 3 0 3 1 0 1
2070 FxEBT—TH 7 4 6 7 3 4 2 3 3 4
2080 FRET—TH 5 3 2 4 6 4 7 4 3 7
2090 THiRAT 55 48 31 34 34 44 45 35 45 41
2100 fhdLHT 8 8 5 10 15 6 11 8 6 5
2110 }EWIETET—T B 1 5 7 3 8 6 7 7 5 5
2120 HEMIFTETZT B 9 6 9 9 9 10 6 8 10 4
9999 £ ERXET 116 90 78 87 105 98 102 100 92 96
2510 FAMEET 59 49 56 74 67 57 81 76 69 57
2520 sk EeHT 37 37 28 46 37 42 50 39 28 37
2530 = /INRHET 12 8 9 7 4 9 2 8 8 11
2540 FHi5HT 7 9 3 14 7 7 7 10 5 12
2550 ;HHET 9 0 4 5 6 4 7 5 3 3
2560 = SHT 28 26 19 16 24 16 31 27 23 27
2570 X &HT 1 3 1 6 4 3 1 4 2 1
9999 ME R X ET 153 132 120 168 149 138 179 169 138 148
3010 K#THT 25 28 27 34 24 26 27 23 38 28
3020 ;BT HT 23 25 15 15 27 28 26 32 27 37
3030 L EFHT 15 19 17 17 25 23 23 23 26 25
3040 &S _LHET 2 1 0 2 5 3 3 3 3 5
3050 R AT 69 72 54 58 38 60 67 71 63 62
3060 BN THET 16 13 7 11 8 10 10 7 7 13
3070 wERERT 14 11 11 9 6 12 17 12 16 9
3080 H AT 13 16 11 6 13 13 8 13 14 13
3090 HHEHT 8 15 13 17 1 12 16 15 8 11
3100 EH R FEHET 9 10 11 8 10 16 14 13 15 14
3110 EHAILHET 14 6 8 10 11 8 1 15 15 14
9999 /\FHERXET 208 216 174 187 178 211 222 227 232 231
3510 2R LHT 1 1 1 3 3 1 3 6 6 7
3520 £ R chfT 6 8 3 5 4 10 6 9 10 11
3530 27 THT 29 29 24 26 19 13 15 26 28 22
3540 =B KHT 1 4 12 7 7 13 12 9 10 14
3550 AEFHT 11 17 22 22 22 26 21 18 23 22
3560 = T B HET 4 6 7 3 6 6 5 4 10 12
3570 & T AafT 21 15 13 17 20 10 14 19 19 16

3580 ¢ LLITHT 8 15 14 9 9 17 16 18 12 15
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TIRET (KF)2—K {TEHET (KF) 4
3590 EHT
9999 EHKXET
4010 41| N ET
4020 &S HT
4030 5HT
4040 S HEAHT
4050 7K EHT
4060 E=Z HHET
4070 JtJRHET
4080 =;T;HAMT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET
5010 BRF0H £ HT
5020 BAF0BAELET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET
5530 F4'= HT
5540 wy ZEmT
5550 EEHET
9999 =R X 5t
6010 [EHT/NEE
6020 [EHT 4
6030 [EET A I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 FEERXET
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
6590 HZ= ATHET
6600 B &= AT
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THRET(KF)3—F {THRET(KF) & 405
6610 HEA _LFEHT
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

9210 $EHET = H 8 6 2 9 9 10 14 9 6 14
9220 SxETHH 8 11 8 12 18 13 13 18 11 15
9230 $EHTE M 7 15 24 21 18 16 9 10 12 17
9240 $EHETIEE 6 5 5 4 7 5 6 7 3 5
9250 % HT At #r b 24 14 11 15 14 15 11 7 12 13
9999 S XET 150 170 153 170 166 158 156 160 166 171
9310 E[FHET:AR 1 1 1 6 3 5 3 5 2 4
9320 H[SHETIL 2 5 4 4 4 1 5 5 6 5
9330 H[SHET/INE 3 2 4 0 1 3 1 5 4 0
9340 R [ZHTR 8 3 9 7 7 6 6 5 8 5
9999 H[G#HXET 14 11 18 17 15 15 15 20 20 14
9410 RETT & 7 4 4 8 5 11 7 11 5 3
9420 RHETHHE 1 4 3 1 0 2 3 1 2 4
9430 RETFER 2 0 0 0 2 2 1 1 1 1
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 0 0 1 0 0 1 0 0 0
9460 RET{—_HE 0 1 0 1 0 0 0 1 1 1
9470 RETEXR 0 0 1 0 0 0 0 0 0 0
9480 RHETHER 0 2 0 1 1 0 1 0 0 3
9999 RIXXEt 10 11 8 12 8 15 13 14 9 12
99999 &t 1406 1394 1281 1393 1452 1461 1529 1563 1566 1607
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

10 HAT

20 [ d-HT

30 JEHT

40 LRHET

50 KET—T B
60 AET=TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #¥3;THT

120 #A;TAHET
130 t&FHT
140 HEi[EET
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 2AT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT

620 FiEET—T B
630 ¥TERT T H

9999 J\ R XET
1010 FEHT
1020 £ A HT
1030 b HT
1040 74 FrHT
1050 & FHHET
1060 FH EHT
1070 F7[RHET
1080 & FHHT
1090 HiEHT
1100 L BEHT
1110 {2 1EMT
1120 {E1E JTHT
1130 +4<HT
1140 Fi R ET

1150 #JHET—TH
1160 F/RET=THB

1170 ;& 7/KHET
1180 & FL HT
1190 ¥ FAHT

1200 XFHET—TH
1210 XFHEIZTH

1220 ZHET
1230 #xHET
1240 EELET
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1250 fEEIRT 6 4 3 4 2 5 4 1 4 6
1260 B R I& 1 1 0 1 0 0 1 0 0 4
1270 EEHT 4 3 3 0 3 2 2 1 3 5
1280 FRAHET 9 4 4 4 6 2 1 3 8 4
1290 $RHT 3 3 4 6 5 3 6 7 3 2
1300 & EEHT 1 4 3 3 2 1 3 7 4 4
1310 RJLHET 3 1 2 2 3 6 1 1 3 3
9999 K HEMRXET 190 199 190 215 193 191 158 208 193 197
1510 A& _E BT 20 14 20 18 15 16 14 29 23 15
1520 HEHTHET 22 18 19 15 25 13 17 20 10 13
1530 }EHTHT 9 5 1 6 7 11 5 8 11 8
1540 K4EFHT 10 11 14 18 12 14 11 8 21 13
9999 FEMNA: X 5 61 48 54 57 59 54 47 65 65 49
2010 EE AT 3 6 7 5 7 7 5 4 4 3
2020 % E gl 11 10 6 7 9 9 6 5 3 6
2030 E0HT 0 0 0 1 0 0 0 0 0 1
2040 ;ET—T H 7 8 11 8 3 3 6 10 6 5
2050 BT =T B 3 2 7 5 5 10 3 8 1 3
2060 ¥g AT 0 0 1 1 0 0 0 2 0 1
2070 FxEBT—TH 9 9 5 8 8 3 8 4 7 7
2080 FRET—TH 5 5 4 7 5 9 4 3 6 3
2090 THiRAT 43 42 42 37 35 36 32 45 34 29
2100 fhdLHT 6 5 10 4 6 3 4 4 7 6
2110 }EWIETET—T B 7 6 4 7 12 6 7 10 11 7
2120 HEMIFTETZT B 7 13 12 6 5 5 7 6 9 10
9999 £ ERXET 101 106 109 96 95 91 82 101 88 81
2510 FAMEET 63 68 56 45 51 59 38 57 43 43
2520 sk EeHT 39 35 32 53 49 39 40 32 40 33
2530 = /INRHET 12 9 12 16 11 13 12 7 10 7
2540 FHi5HT 9 12 11 15 7 8 12 14 13 14
2550 ;HHET 4 6 1 4 5 11 9 5 4 7
2560 = SHT 22 34 14 25 22 19 29 27 19 16
2570 K EHT 1 1 2 1 1 2 0 1 1 0
9999 ME R X ET 150 165 128 159 146 151 140 143 130 120
3010 X#FHET 22 14 29 21 23 29 22 23 20 28
3020 ;BT HT 31 33 25 21 38 30 21 26 19 26
3030 L EFHT 32 32 21 21 21 35 18 25 29 19
3040 &S _LHET 1 6 5 8 5 9 0 3 5 2
3050 R AT 60 61 45 62 61 58 61 80 39 67
3060 B THT 9 13 13 14 11 10 17 17 9 16
3070 HEAEAT 9 10 15 15 13 13 11 13 10 12
3080 H AT 13 16 4 16 8 9 5 10 13 7
3090 H A E AT 12 9 15 7 8 15 2 8 8 6
3100 EH R FEHET 18 14 11 11 12 13 19 8 16 15
3110 EHeRILHET 5 10 11 5 14 8 10 15 9 16
9999 /\FHERXET 212 218 194 201 214 229 186 228 177 214
3510 2R LHT 2 1 2 1 6 7 3 5 16 11
3520 £ R chfT 5 11 13 10 15 3 10 9 8 8
3530 27 THT 39 33 29 27 15 29 17 25 28 26
3540 =B KHT 12 10 9 10 10 13 5 16 11 7
3550 AEFHT 11 14 14 15 19 22 26 17 21 16
3560 = T B HET 8 3 9 5 5 7 8 4 1 7
3570 & T AafT 26 18 25 15 24 28 15 17 17 18

3580 ¢ LLITHT 16 16 13 17 10 14 14 12 17 9
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

3590 EHT 0 0 1
9999 S HKXE 119 10 11 10 104 12 9 10 11 103
4010 41| NHET 12 10 11
4020 {E&HT 2 2 0
4030 15HT 7 1 8
4040 S HEAHT

4050 7K EHT 1 1 1 1

—_—
—_—

4060 E=Z HHET
4070 JtJRHET
4080 =;T;HAMT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET
5010 BRF0H £ HT
5020 BAF0BAELET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET
5530 F4'= HT
5540 wy ZEmT
5550 EEHET

9999 =R X 5t
6010 [EHT/NEE
6020 [EHT 4
6030 FEBTA I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 FEERXET 1
6510 B &= A#GHET

6520 HZEAKIEHET

6530 B E AFTHHET

6540 HERALLTHT

6550 B E A Z NET
6560 HRAIEILHET

6570 B EALERIHET

6580 HZAEHRT

6590 HZ= ATHET

6600 B &= AT
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET (K a—FK THRET(KF)& 50 51 52 53mk 54k 55 56 57 58 59
6610 HEA _LFEHT
6620 HZE AT
6630 HZE AT FGHET
6640 B &= A EitslT
6650 B ZASHET
6660 HZ A RLHET

9999 HEAKKET 2 1 2 2 3 2 2 2 2 3
7010 Z— R;M O/

7020 — R AHT
7030 = R FR#AHET
7040 — BT KEFHET
7050 — R ¥y H I HET
9999 — R&XEt 1
8011 IRAETFEHERLY
8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT

N =2 - 00000 - = MNN—-0—-~ 00— 0WOoOOoOON - —-WWPHAHADNW—-_MNMNMNOO—~0O-—~0O
- 2 O 000000~ 0UION - - 0000 OCON—-—-MNOONMNDMP—LOPOCOO—-=DNNDO
WNMNOOOOOOON—-"TONNMN—-TOWOOOO PO —=00NWNMNOUUIOOOO = —=
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APOMNMNO LT —~0 WL~ O0O0O0OOOOOMNODO A= PMdOoOoOOBMNPLWLWOIOOWOUIO =
AN-—-NOO - —=DMNMNMNO - - = 00~ OCO == IdINONP,~PPINPO—~~OWOO

WOINWOONMNOOWUIOOO 00000000 ON—=DN—-"SNNDNJyTOgoooOoOoONwW-—=

8150 IR AHBTEFRK L 2 1 1 2 3
9999 AKX 5T 20 23 24 22 25 23 32 38 26 37
9010 +THTAKEH 13 13 20 11 12 10 17 17 18 14
9020 FTHTHEA 9 8 12 15 10 9 7 9 12 10
9030 +THTH & H 39 27 21 31 23 33 19 29 26 30

9040 FTHTHEIH
9999 FT#XEt 111

ol
o
~N DN
o
[{o NN
w O
[{o NN
m_k
0 W
o o1
o H
(o2 NN
~ N
— o
w
»
S
>
w
o

91 100 84

9110 $RET T HIE 15 19 13 19 16 12 12 12 16 19
9120 SFETH L 5 2 5 3 6 5 9 7 9 7
9130 $EHTH & 0 5 4 4 2 6 6 2 2 7
9140 $RAT T4 5 11 10 7 9 9 8 14 6 9
9150 $RET &5 15 12 8 13 17 15 9 8 11 8
9160 SRETERHT 19 13 16 16 18 22 26 18 20 15
9170 $RATNEA 22 18 32 15 21 16 22 26 25 21
9180 SEMETEE 12 12 12 16 6 20 12 19 11 17
9190 $ERTZ O 3 5 3 3 1 9 4 5 2 3

9200 $EHTEFIF 3 4 3 6 5 4 7 6 3 5



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

9210 SFET=EH 12 10 9 10 18 11 9 4 11 7
9220 $EHT 7 H 18 8 11 14 18 11 13 17 13 18
9230 SXET B M 21 11 12 12 13 19 14 15 23 14
9240 $EHETIEE 4 1 7 10 8 8 4 10 9 15
9250 % HT At #r b 7 17 12 10 16 5 10 11 16 19
9999 S XET 161 148 157 158 174 172 165 174 177 184
9310 E[FHET:AR 10 1 2 1 3 5 6 3 3 9
9320 H[SHETIL 5 4 8 4 3 6 8 5 9 7
9330 FH[SAT/INE 4 0 3 2 7 1 4 3 7 1
9340 R [ZHTR 5 8 8 5 8 12 11 15 17 13
9999 WG XET 24 13 21 12 21 24 29 26 36 30
9410 RET T & 7 6 6 7 7 9 12 13 8 9
9420 RHETHHE 2 4 6 6 4 3 3 4 6 4
9430 RETFER 2 4 2 2 6 5 3 2 5 2
9440 RETAEF 0 0 0 0 1 0 0 1 0 2
9450 RHETHER 0 0 0 0 0 0 0 2 0 0
9460 RET{—_HE 0 1 0 0 0 1 2 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 0 1
9480 RHETHER 4 0 2 1 2 0 1 4 2 4

9999 REXET 15 16 16 20 18 21 26 21 22
99999 TH&Et 1554 1511 1497 1510 1560 1582 1350 1618 1548 1515

—_
(¢;]



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

10 HAT 2 5 3 6 4 4 3 1 4 4
20 fE&LET 3 3 2 4 8 2 8 5 5 6
30 @M 4 5 4 8 8 2 4 1 7 6
40 SRET 4 2 4 1 2 3 3 5 6 1
50 KET—T B 6 4 11 1 7 9 9 7 6 7
60 KET=TH 5 4 2 3 0 5 6 4 1 6
70 RET=TH 6 5 7 11 5 6 3 6 8 8
80 AT IEHET 4 1 2 1 1 2 5 1 5 0
90 FEHATIRAT 6 3 8 0 5 6 6 6 7 3
100 b ALET 3 3 7 3 4 2 4 6 9 2
110 T HT 30 30 29 34 23 45 28 30 29 42
120 ;T AHT 4 5 2 6 6 4 8 3 2 8
130 t&FHT 9 9 13 5 6 11 13 9 5 10
140 EH[E M7 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 5 3 9 8 5 7 7 6 3 12
9999 KB XEt 91 82 103 91 84 108 107 90 97 115
510 AETHT B 4 8 14 10 8 6 16 13 13 13
520 HpEEMT 1 6 6 2 4 2 6 3 3 1
530 /\F&EHET 5 6 4 9 7 4 7 3 7 4
540 15 HT 9 9 8 10 12 4 8 10 9 18
550 FithET 7 10 4 16 12 9 12 11 9 8
560 = ZLHT 3 0 1 0 0 3 1 4 4 2
570 & EHT 1 0 0 3 1 1 5 1 3 3
580 #rBHET 4 2 2 6 2 5 3 3 4 3
590 FriEMT 3 1 1 1 2 1 2 0 1 3
600 ZEARET 22 11 21 17 20 23 26 32 22 29
610 JEHT 4 4 4 12 3 6 9 6 4 5
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 63 57 65 86 71 64 95 86 79 89
1010 R HT 12 5 5 4 7 3 4 10 6 1
1020 Lt FHT 7 6 9 5 10 6 12 10 12 11
1030 = T HT 13 1 11 4 11 9 7 12 6 10
1040 75 K HT 19 16 10 21 15 13 17 16 12 12
1050 = HHET 22 16 19 14 11 18 21 20 12 16
1060 FH _EHT 10 15 11 25 15 22 15 15 14 8
1070 A7 R HET 21 20 14 18 22 14 7 18 14 16
1080 & HHET 14 12 10 5 12 7 10 10 12 11
1090 Hi&Hr 15 12 21 26 16 9 15 17 21 27
1100 £ BEHT 18 10 13 17 13 12 14 17 17 28
1110 f21EHT 4 4 0 3 7 3 5 6 4 3
1120 #Z1E JCHT 0 3 5 2 4 3 3 1 3 3
1130 +5&HT 0 0 2 1 1 1 0 2 0 1
1140 Fk[RHET 0 0 1 0 1 0 0 0 0 0
1150 #/RET—T B 8 6 6 3 6 5 6 6 5 5
1160 #EET=TH 9 10 8 8 4 8 6 4 8 7
1170 ;B/KHET 1 3 5 0 5 6 1 2 4 4
1180 EE&FLHET 6 8 6 7 7 5 4 7 4 5
1190 ¥ F AHT 4 5 4 5 2 8 4 4 4 8
1200 XFHET—TH 3 5 4 2 5 2 3 2 3 5
1210 XFHEIZTH 2 2 5 5 7 6 7 5 2 6
1220 FrHT 3 6 3 0 2 1 7 5 2 7
1230 #xKHET 3 6 6 9 9 4 6 2 4 6
4 4 2 3 3 1 5 4 0 2

1240 FEEHT



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1250 fEEHET 6 5 4 3 5 3 3 5 1 3
1260 B & 0 0 1 4 0 3 2 1 3 1
1270 EEHT 5 4 5 2 3 4 4 2 4 4
1280 FRAHET 7 1 2 2 2 3 4 7 4 6
1290 $RHT 3 3 2 6 6 5 5 7 3 7
1300 & EEHT 4 3 4 5 1 1 3 4 2 1
1310 RJLHET 5 5 6 4 4 0 3 5 1 0
9999 K HEMRXET 228 196 204 213 216 185 203 226 187 224
1510 A& _E BT 11 18 15 19 27 15 22 14 22 23
1520 HEHTHET 19 23 22 20 13 23 21 24 24 24
1530 }EHTHT 4 9 8 15 8 15 8 10 12 7
1540 K4EFHT 6 16 16 12 23 14 16 19 25 20
9999 FEMNA: X 5 40 66 61 66 71 67 67 67 83 74
2010 EE AT 3 6 6 3 1 3 9 3 4 3
2020 % EFGHT 8 6 4 8 4 9 5 7 7 8
2030 E0HT 0 0 0 0 3 5 1 1 0 0
2040 ;ET—T H 5 4 5 5 6 7 2 4 3 2
2050 BT =T B 2 4 5 1 4 3 7 5 7 5
2060 ¥g AT 1 1 2 2 0 3 2 3 2 2
2070 FxEBT—TH 5 8 9 11 6 5 11 6 7 6
2080 FRET—TH 4 8 4 2 2 7 4 8 6 4
2090 THiRAT 43 53 43 38 41 52 59 61 56 66
2100 Hr it ET 5 4 3 8 5 3 6 14 6 11
2110 }EWIETET—T B 7 9 4 7 4 5 3 8 8 13
2120 HEMIFTETZT B 7 3 4 11 13 8 7 13 12 6
9999 £ ERXET 90 106 89 96 89 110 116 133 118 126
2510 FAMEET 66 51 48 65 55 48 44 53 50 53
2520 sk EeHT 35 31 38 47 45 41 40 29 47 25
2530 = /INRHET 14 11 17 12 8 9 7 15 14 15
2540 FHi5HT 14 16 10 12 10 15 13 12 12 22
2550 ;HHET 2 4 10 7 10 5 12 9 5 7
2560 = SHT 16 19 17 33 21 25 28 33 29 17
2570 X &HT 0 2 2 3 2 3 1 2 1 4
9999 ME R X ET 147 134 142 179 151 146 145 153 158 143
3010 X#FHET 25 27 19 29 21 22 18 30 27 27
3020 ;BT HT 26 16 23 27 20 20 26 20 26 26
3030 L EFHT 20 23 20 15 23 26 18 26 19 21
3040 &S _LHET 3 1 5 5 4 3 5 5 6 5
3050 B AT 43 69 66 58 52 63 52 63 54 50
3060 B THT 9 14 13 18 16 13 11 16 9 19
3070 THESEHT 7 7 16 12 12 17 17 16 11 18
3080 HHHHT 9 9 13 9 5 6 8 10 8 7
3090 HHRERHAT 14 11 7 8 4 11 4 9 4 11
3100 EH R FEHET 11 9 8 14 9 16 14 13 13 17
3110 EHeRILHET 8 13 17 19 11 9 16 11 13 14
9999 /\FHERXET 175 199 207 214 177 206 189 219 190 215
3510 27 _FHT 3 7 6 10 2 3 3 6 6 10
3520 &R T 10 8 11 10 11 9 9 13 12 9
3530 27 THT 41 19 28 26 23 39 31 29 27 27
3540 =B KHT 14 17 11 6 8 15 6 11 11 17
3550 AEFHT 23 30 22 30 27 16 32 30 23 35
3560 = T ERAT 8 16 8 5 9 12 15 17 13 17
3570 & T AafT 16 15 14 22 19 27 21 19 30 21

3580 ¢ LLITHT 14 14 10 14 16 19 15 13 19 1



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

3590 JEMT 0 1 0 0 0 0 0 0 0 0
9999 S HKXE 129 127 110 123 115 140 132 138 141 147
4010 41| RET 5 8 5 9 11 9 8 11 5 9
4020 {E&HT 4 1 1 1 2 3 5 1 2 4
4030 5HT 9 8 7 4 7 11 5 7 5 6
4040 S HEAHT 3 7 5 6 2 4 9 4 8 7
4050 7K EHT 16 12 15 11 14 11 6 16 15 20
4060 E5Z HAT 8 2 6 4 4 10 11 8 11 13
4070 JtJRHET 8 7 4 5 8 9 2 7 2 4
4080 =;T;HAMT 5 7 1 8 9 9 11 6 7 9
4090 FR ek HET 10 7 14 8 11 11 7 9 10 12
4100 g FEFOET 1 8 7 6 3 14 12 15 6 6
4110 JtEFnET 3 5 8 13 8 12 12 9 9 7
9999 2RI X st 72 72 73 75 79 103 88 93 80 97
4510 EREE—FHET 19 25 21 23 20 21 23 26 32 24
4520 EREE — AT 4 1 5 6 3 5 9 3 6 11
4530 EREE=ZEHT 11 6 4 5 7 4 5 5 5 6
4540 EREEIUZHET 5 4 4 5 4 5 4 6 4 5
4550 AR EE T FHET 4 2 0 2 2 2 6 4 2 2
4560 EBEENFEHET 2 3 3 4 1 4 1 4 1 2
4570 AR FHHET 4 4 5 1 5 2 1 2 2 2
4580 EREE)\ZHT 0 1 2 4 3 4 3 2 3 1
4590 AREENFHET 2 1 3 1 4 3 7 5 3 3
4600 EBEEZEHET 4 3 8 0 3 0 5 1 6 1
4610 AR+ —ZFHT 4 7 1 2 2 2 7 2 5 5
4620 B+ —FET 2 4 11 7 2 3 4 7 7 10
9999 ERERXET 61 61 67 60 56 55 75 67 76 72
5010 FAF0H EET 6 6 8 6 0 3 5 6 6 9
5020 BB F0BAELET 4 7 4 3 2 1 3 7 5 4
5030 REF0[RI{ZHET 13 3 8 8 3 6 5 3 9 2
9999 AFIAXET 23 16 20 17 5 10 13 16 20 15
5510 b RHET 9 8 5 7 6 7 5 10 14 15
5520 = AT 9 15 20 14 13 20 18 20 13 14
5530 75 = /T 12 9 16 13 14 11 18 12 14 15
5540 THEHRT 7 10 7 11 5 3 11 6 16 18
5550 EEHET 3 2 4 2 6 1 2 4 4 2
9999 =R X 5t 40 44 52 47 44 42 54 52 61 64
6010 [EIHAT/MER 4 1 3 4 1 0 1 5 7 3
6020 [z HT 5 5 6 4 3 7 5 2 3 10
6030 [EET &I 2 6 3 3 5 8 3 4 6 5
6040 EiEIFHET 3 12 5 7 8 5 8 11 9 12
6050 JI|ABTE 9 4 3 8 8 5 8 8 2 9
6060 JI|EHETF 0 1 4 2 4 1 7 6 7 8
9999 BEERXET 23 29 24 28 29 26 32 36 34 47
6510 H X A#EAHT 0 2 1 1 2 1 1 2 0 3
6520 HZEAKIEHET 4 2 4 4 6 7 4 11 9 11
6530 B E AFTHHET 5 2 2 5 8 2 4 7 7 7
6540 HZEALLTHET 2 3 2 3 2 2 6 9 5 6
6550 B E A Z NET 2 3 3 3 1 1 2 8 5 2
6560 HRAIEILHET 2 2 2 4 0 2 6 4 3 5
6570 B EALERIHET 5 5 2 3 3 3 6 4 3 3
6580 HZEAKHET 1 3 4 5 3 2 1 6 10 3
6590 HZ= ATHET 0 2 1 0 3 1 3 0 0 2
6600 HZA T 2 1 2 1 3 3 3 3 4 4
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TIRET(XF)a—K {THHET(KF)& 60

6610 HEA _LFEHT 2
6620 HZE AT 1
6630 HZE AT FGHET 1
6640 B &= A EitslT 0
6650 B ZASHET 1
6660 HZ A RLHET 0
9999 HEARKKXET 28
7010 Z B MO E 4
7020 — R AHT 19
7030 = R IRHNET 3
7040 — BT KEFHET 6
7050 — R ¥y H I ET 8
9999 — R&XEt 40

8011 IRAETFEHERLY
8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT
8150 IR AHBTEFRK L
9999 AKX 5T
9010 +THTAKEH
9020 FTHTHEA

N W
N WO - NANOOONMNMWPAEA—LA—- 00— A= 0JOOCDONMNGADN

9030 FTHT#FHAEH 27
9040 FTHIHEHE 29
9999 FT#XEt 86
9110 SRETTTH & 13
9120 SFETH L 4
9130 FRETH B 9
9140 $RAT T4 17
9150 $EMT L 45 14
9160 SRETERHT 15
9170 $RATNEA 29
9180 #RHTEE 18
9190 $FETZ O 2

9200 $EHTEFIF 13
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

9210 $EHET = H 2 17 18 9 7 15 6 16 12 13
9220 $EHT 7 H 16 12 12 12 16 13 21 15 13 14
9230 $EHTE M 20 20 24 25 23 18 18 24 21 30
9240 $EHETIEE 7 8 8 10 8 7 11 9 8 13
9250 % HT At #r b 13 19 12 13 20 21 19 18 10 28
9999 S XET 188 206 186 205 204 190 217 233 185 214
9310 E[FHET:AR 11 10 8 6 8 9 11 6 9 7
9320 H[SHETIL 8 7 8 9 13 7 14 6 6 9
9330 FH[SAT/INE 5 5 6 9 6 7 7 8 7 3
9340 R [ZHTR 12 10 8 10 9 13 19 21 15 13
9999 R[GHXET 36 32 30 34 36 36 51 41 37 32
9410 RET T & 14 9 9 12 15 17 10 10 14 10
9420 RHETHHE 6 9 3 4 11 8 5 7 13 16
9430 RETFER 5 4 4 3 2 6 4 7 5 6
9440 RETAEF 1 0 0 0 0 2 1 1 0 0
9450 RHETHER 1 0 0 2 0 0 2 0 0 1
9460 RET{—_HE 1 0 3 0 1 2 1 2 2 1
9470 RETEXR 0 0 1 0 0 0 0 2 1 0
9480 RHETHER 1 0 2 2 0 0 1 0 3 2
9999 RIXXEt 29 22 22 23 29 35 24 29 38 36

99999 H&&Et 1628 1652 1662 1779 1674 1740 1820 1932 1856 1967



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

10 HAT 5 8 4 7 4 5 0 1 1 1
20 fE&LET 8 6 7 4 2 2 2 3 4 3
30 @M 3 5 9 12 13 4 4 5 6 5
40 SRET 4 4 4 9 3 6 2 5 3 3
50 KET—T B 14 11 12 14 11 17 6 8 9 5
60 KET=TH 5 9 3 13 4 4 4 5 5 4
70 RET=TH 5 11 10 10 7 5 5 8 4 6
80 AT IEHET 2 1 5 1 3 3 3 4 1 1
90 FEHATIRAT 5 3 8 13 7 10 4 12 8 2
100 b ALET 7 4 3 5 4 4 3 4 2 4
110 T HT 30 22 43 34 31 32 23 18 16 13
120 ;T AHT 4 5 4 4 6 3 5 3 3 3
130 t&FHT 16 14 13 10 8 14 3 15 15 5
140 EH[E M7 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 10 10 9 5 9 7 3 7 6 4
9999 KB XEt 118 113 134 141 112 116 67 98 83 59
510 AETHT B 21 16 13 12 13 16 8 11 8 13
520 HpEEMT 2 7 3 5 4 3 3 2 5 4
530 J\It&HET 7 10 4 10 8 6 4 7 5 4
540 15 HT 6 8 11 15 18 10 11 3 7 15
550 FithET 14 5 7 13 10 12 5 5 7 11
560 = ZLHT 2 1 1 1 1 0 0 2 2 1
570 & EHT 2 2 2 2 3 1 1 2 3 0
580 #rBHET 10 10 2 5 1 1 6 10 6 2
590 FriEMT 1 5 2 4 1 5 1 2 1 2
600 ZEARET 28 24 18 24 15 10 8 6 12 10
610 &M 3 8 7 5 7 5 2 5 4 4
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 96 96 70 96 81 69 49 55 60 66
1010 X HT 1 13 6 9 4 14 1 2 3 4
1020 Lt FHT 9 10 9 12 16 10 3 6 9 7
1030 & /T HT 6 9 8 10 4 9 4 4 8 3
1040 75 K HT 14 17 11 16 11 14 8 8 7 13
1050 = HHET 16 15 17 23 18 15 8 9 13 7
1060 FH _EHT 6 16 16 13 15 12 8 6 11 9
1070 4T/ HET 11 16 15 16 13 17 10 9 18 13
1080 & HHET 7 9 9 9 8 9 7 11 7 6
1090 BHiEHT 25 27 26 21 10 11 15 10 17 15
1100 £ BEHT 9 21 16 21 21 17 5 15 12 18
1110 f21EHT 2 2 5 3 4 2 2 7 5 6
1120 #Z1E JCHT 1 2 5 1 4 1 4 0 3 1
1130 +4HT 0 1 1 3 2 1 0 0 3 0
1140 Fk[RHET 2 0 0 0 0 1 0 1 3 0
1150 #/RET—T B 2 8 8 12 3 5 6 2 4 7
1160 #EET=TH 5 7 10 14 7 9 1 1 4 10
1170 ;B/KHET 2 5 6 6 5 4 1 3 4 3
1180 EE&FLHET 6 5 14 9 4 5 9 9 7 4
1190 1 F AHT 10 4 8 11 5 9 1 5 7 3
1200 XFHET—TH 5 4 3 3 5 3 1 0 4 2
1210 XFHEIZTH 5 9 8 8 10 4 0 1 5 5
1220 FrHT 3 4 1 6 6 11 3 3 5 3
1230 #xKHET 3 1 11 7 4 3 7 5 6 3
1240 B EHT 4 1 5 6 3 4 2 5 3 5



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1250 fEEIRT 3 1 3 4 8 4 1 2 2 3
1260 B R I& 1 0 2 3 1 0 2 3 2 0
1270 EEHT 5 1 3 6 2 2 2 5 1 0
1280 FRAHET 7 5 4 4 6 5 2 1 3 2
1290 $RHT 5 3 2 9 7 7 2 5 8 3
1300 & EEHT 2 5 4 5 6 1 4 3 4 3
1310 RJLHET 2 2 0 1 3 2 2 3 3 2
9999 K HEMRXET 179 223 236 271 215 211 121 144 191 160
1510 A& _E BT 11 31 23 17 23 20 11 11 23 23
1520 HEHTHET 18 25 36 25 30 23 17 19 19 21
1530 HEHITHET 10 9 6 11 12 18 5 9 14 7

1540 K& HT

N
—_
—_
(&)]
—_
N
N
N
—_
~
N
(&)]
(&)}
—_
(&)]

12 11

9999 FEMNA: X 5 60 80 79 75 82 86 38 54 68 62
2010 EE AT 2 4 5 11 7 10 2 3 3 7
2020 % E gl 5 6 4 1 7 8 2 2 7 6
2030 E0HT 0 1 2 6 1 2 0 0 0 2
2040 :NET—TH 7 9 6 7 10 9 3 7 3 1
2050 BT =T B 6 5 10 6 6 11 5 7 8 5
2060 ¥g AT 1 1 2 3 3 2 1 1 0 3
2070 FxEBT—TH 8 10 10 7 8 6 7 1 7 6
2080 FRET—TH 7 5 5 7 9 8 5 5 7 3
2090 THiRAT 59 53 69 59 71 57 32 37 64 42
2100 fhdLHT 6 4 10 10 4 9 1 2 3 3
2110 }EWIETET—T B 9 12 7 9 6 10 6 3 4 8
2120 HEMIFTETZT B 8 13 9 8 6 15 4 5 6 5
9999 E B XEt 118 123 139 134 138 147 68 73 112 91
2510 FAMEET 61 56 63 60 76 56 34 40 53 35
2520 sk EeHT 37 38 39 46 42 23 20 22 14 24
2530 = /INRHET 14 10 13 10 14 8 4 4 3 2
2540 FHi5HT 27 12 18 23 21 24 11 11 13 15
2550 ;HHET 8 11 3 7 6 6 6 5 9 5
2560 = SHT 34 27 38 47 30 37 20 20 22 21
2570 K EHT 3 6 3 6 7 5 1 0 3 1
9999 ME R X ET 184 160 177 199 196 159 96 102 117 103
3010 X#FHET 42 28 29 35 32 33 24 22 26 19
3020 ;BT HT 31 27 31 36 31 39 17 14 21 12
3030 L EFHT 26 15 18 25 21 22 7 19 11 18
3040 &S _LHET 8 1 1 5 3 4 4 2 7 5
3050 B AT 52 52 74 74 58 62 20 38 35 42
3060 BN THET 10 11 28 15 13 20 10 11 18 18
3070 HEAEAT 15 24 19 15 11 10 10 14 17 10
3080 H hHT 5 7 19 16 12 10 5 4 6 8
3090 HHRERHAT 10 14 10 12 5 6 5 7 9 13
3100 EH R FEHET 11 14 9 15 10 7 10 9 6 5
3110 EHeRILHET 14 19 14 21 22 16 3 12 12 14
9999 /\FHERXET 224 212 252 269 218 229 115 152 168 164
3510 27 _FHT 4 8 7 9 7 6 3 2 8 2
3520 £ R chfT 5 11 15 18 22 8 12 9 9 13
3530 &R THT 42 36 28 34 31 19 17 22 19 19
3540 =B KHT 10 16 17 15 15 13 14 5 4 11
3550 AEFHT 28 22 30 31 33 24 18 15 23 18
3560 = T B HET 7 12 8 11 10 10 7 6 4 7
3570 & T AafT 32 29 34 41 33 24 20 21 22 21

3580 ¢ LLITHT 15 21 13 31 21 20 7 11 10 12



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

3590 JEMT 2 1 0 0 1 3 0 0 0 0
9999 S HKXE 145 156 152 190 173 127 98 91 99 103
4010 41| RET 13 13 20 17 11 18 12 13 12 9
4020 {E&HT 5 1 6 6 2 2 2 2 3 3
4030 5HT 12 14 8 14 9 10 2 3 5 4
4040 = HEAHT 9 4 4 5 6 12 2 2 2 6
4050 7K EHT 17 21 16 14 15 17 4 5 10 9
4060 E5Z HAT 10 12 7 16 9 12 9 9 9 9
4070 JtJRHET 5 4 2 8 7 10 2 3 1 3
4080 =;T;HAMT 8 9 8 7 3 8 3 5 7 3
4090 FR ek HET 12 9 8 15 10 13 9 7 7 7
4100 g FEFOET 6 4 4 3 6 5 1 2 2 1
4110 JEFF0ET 5 1 9 5 9 4 3 1 2 1
9999 2RI X st 102 92 92 110 87 111 49 52 60 55
4510 EREE—FHET 30 28 32 23 22 23 13 17 29 16
4520 EREE — AT 4 10 6 7 3 3 3 4 4 3
4530 EREE=ZEHT 7 7 5 7 5 4 2 2 1 5
4540 B} EErUZEET 7 4 3 7 1 5 1 4 3 4
4550 EREE FFHT 4 2 0 4 0 3 2 3 3 1
4560 AREE/EHET 1 3 2 0 2 0 2 0 2 2
4570 EREE-HZFHET 6 1 5 8 9 8 4 3 1 1
4580 ERZE/)\ZHEHT 8 4 4 8 3 2 3 2 0 0
4590 EREE N FEHT 3 7 1 4 3 2 1 2 3 1
4600 EREE-+ZEHET 3 0 1 1 3 0 1 0 4 0
4610 EREE+—ZHT 3 3 3 4 4 0 5 1 2 2
4620 B+ —FET 6 7 10 5 6 11 3 4 3 3
9999 ERERXET 82 76 72 78 61 61 40 42 55 38
5010 BRF0H £ HT 9 3 7 5 9 7 4 1 6 7
5020 FAF0BAEET 9 6 10 5 3 5 2 4 1 3
5030 FRFNREI{—HT 7 4 4 3 5 5 4 1 3 3
9999 AFIAXET 25 13 21 13 17 17 10 6 10 13
5510 b RHET 7 7 7 5 8 10 5 7 5 2
5520 = AT 14 25 29 25 25 22 5 18 15 21
5530 75 = /T 22 16 13 18 16 22 4 14 14 10
5540 THEHRT 1 11 10 11 4 10 6 10 10 6
5550 EEHET 3 2 5 5 4 1 5 1 2 3
9999 EiRX &t 57 61 64 64 57 65 25 50 46 42
6010 [EIHAT/MER 1 3 2 7 3 4 3 1 3 5
6020 [T 3 5 4 3 4 3 0 0 1 2
6030 [EET &I 1 2 4 3 3 2 0 1 3 0
6040 EiEIFHET 6 12 5 11 6 10 4 7 6 4
6050 JI|ABTE 4 5 8 7 6 10 4 1 4 8
6060 JI|EHETF 11 5 4 8 2 4 1 4 2 1
9999 FEEMRXET 26 32 27 39 24 33 12 14 19 20
6510 H X A#EAHT 0 0 0 0 1 1 0 0 1 0
6520 HZEAKIEHET 10 9 14 12 6 13 2 5 6 7
6530 B E AFTHHET 5 4 4 3 4 5 1 3 4 2
6540 B&EALLTHT 15 3 5 13 8 9 9 6 13 10
6550 B E A Z NET 6 7 3 2 4 4 0 0 2 0
6560 HRAIEILHET 4 5 6 6 7 4 2 5 3 6
6570 B EALERIHET 7 7 5 11 5 10 5 5 4 6
6580 H&EAEHT 6 2 5 5 6 4 0 3 4 1
6590 HZ= ATHET 3 1 1 1 1 3 2 3 3 1
6600 B &= AT 6 4 1 3 2 5 2 3 2 1
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

6610 HEA _LFEHT 1 1 3 2 1
6620 HZE AT 2 2 2 3 2
6630 HZE AT FGHET 1 2 3 2 3
6640 B &= A EitslT 2 4 1 1 3
6650 HZASHET 0 0 0 0 0
6660 HZ A RLHET 2 3 4 1 1
9999 HEARKKXET 70 54 57 65 5 7 3 5 5 44
7010 Z B MO E 6 7 1 13 1

7020 — RAHT 13 10 9 10 1

7030 = R IRHNET 6 9 4 3 1

7040 — R T KEFHT 11 7 9 10 1

7050 — R ¥y H I HET 8 7 7 6

9999 — R&XEt 44 40 40 42 3 3 1 2 3 2

8011 IRAETFEHERLY
8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L

8140 IRABTHFRKT
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P OOAODPD WL WWOWNPAE—LONMNOWO—=-W—=OOUN-=DNOLOMNOOLN—OU

8150 IR AHBTEFRK L 7 8 3 8 5 3 1 1

9999 AR X ET 63 76 73 87 72 64 3 38 56 53
9010 +THTAKEH 18 21 26 27 23 17 17 21 17
9020 FTHTHEA 15 16 18 16 15 14 2 12 12 7
9030 +THTH & H 30 26 39 32 38 20 12 23 22 20
9040 FTHTHEIH 39 35 35 45 43 45 17 37 33 31
9999 FT#XEt 102 98 118 120 119 96 38 89 88 75
9110 $RET T HIE 24 22 15 20 22 17 15 18 23 9
9120 SFETH L 11 8 14 10 8 5 3 6 10 4
9130 $EHTH & 3 7 6 3 6 4 3 4 8 8
9140 $RAT T4 23 18 18 17 19 20 5 11 13 6
9150 FRHET E&5 16 19 16 23 18 17 1 12 12 15
9160 SRETERHT 24 24 14 30 31 30 14 22 23 20
9170 $RATNEA 25 25 35 26 33 32 18 21 26 23
9180 #RHTEE 26 17 19 20 26 14 10 19 14 14
9190 $ERTZ O 8 9 8 9 13 7 3 3 4 7
9200 i ET Fr il 8 10 12 12 5 5 4 5 4 7
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(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

9210 $EHET = H 14 13 20 13 11 5 7 8 15 5
9220 $EHT 7 H 15 21 19 21 17 16 5 11 10 20
9230 $EHTE M 29 17 31 29 23 22 9 16 18 11
9240 $EHETIEE 6 3 10 10 4 7 2 10 2 9
9250 % HT At #r b 17 9 14 7 24 11 5 7 9 7
9999 S XET 249 222 251 250 260 212 114 173 191 165
9310 E[FHET:AR 6 8 4 11 7 11 2 5 6 7
9320 H[SHETIL 8 6 16 11 8 14 4 7 9 2
9330 FH[SAT/INE 12 10 5 5 2 1 5 7 4 4
9340 R [ZHTR 11 17 19 12 9 10 8 14 6 7
9999 R[GHXET 37 41 44 39 26 36 19 33 25 20
9410 RET T & 20 8 17 18 17 13 6 5 17 6
9420 RHETHHE 14 4 11 13 9 7 8 11 17 10
9430 RETFER 4 5 6 12 2 10 7 3 8 7
9440 RETAEF 0 0 0 1 0 0 0 1 0 0
9450 RHETHER 3 0 1 1 1 0 0 1 0 0
9460 RET{—_HE 1 1 0 4 0 1 2 0 0 1
9470 RETEXR 1 0 0 1 0 0 1 0 0 0
9480 RHETHER 0 4 0 5 5 2 4 1 0 1
9999 RIXXEt 43 22 35 55 34 33 28 22 42 25

99999 H&&Et 2024 1990 2133 2337 2056 1978 1064 1360 1572 1386



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.8.31IRENITEET R (KF) Al F oI A O EHFR (S5

TRET (K a—F THRET(KF)& 80 81/ 82 83k 84k 85 86 87 88 89

10 HAT

20 [ d-HT

30 @M

40 LRHET

50 KET—T B

60 RET_TH

70 RET=TH 1
80 AT IR AT

90 FEHATIRAT

100 b ALET

110 ¥A;THT 2
120 #A;TAHET
130 ¥ FHT
140 HEAE BT
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT 1
550 FithET

560 = ZEHT

570 EEHT

580 ¥TREAET

590 FriEMT

600 ZEARET 1
610 FHT

620 FiEET—T B

630 ¥TERT T H
9999 J\ KXt 7
1010 B A HT
1020 £ A HT
1030 b HT
1040 74 FrHT
1050 = HHET
1060 FH _EHT
1070 F7[RHET
1080 & HHET
1090 HEHT 1
1100 L BEHT
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